SH2EERBRETE=2) TR RENET—5 (BAL: 4 Sv/h)

SHISE 1A48| 1A118| 18188| 1H25H
RN E 0.041 0.046 0.041 0.042
FEAIILEE /R 0.048 0.047 0.044 0.044
BEARITISE/NER 0.054 0.042 0.049 0.051
HEAEMLEENER 0.071 0.075 0.071 0.073
HHEAET I T B /R 0.061 0.058 0.054 0.062
HEE BT &/ FER 0.052 0.054 0.051 0.051
HHEAE IR/ 0.059 0.059 0.063 0.054
N L2 0.037 0.027 0.021 0.022
EEHEFTVEZROR 0.027 0.02 0.019 0.019
FEAEI AR PR 0.032 0.027 0.025 0.026
HEHERBT IR PR 0.036 0.028 0.027 0.028
EEARIEERER — — — —
FEERIFAHREEFR 0.048 0.045 0.047 0.046
REERIBHREEFR 0.036 0.028 0.023 0.029
P OREER 0.037 — 0.027 0.028
HERETRESE 0.023 0.019 0.018 0.019
(AW EDLMME 0.037 0.028 0.024 0.025
EERAE K 2—) 0.038 0.029 0.029 0.034
&+ 0.025 0.017 0.015 0.015
th iR it 0.032 0.029 0.027 0.029
FHAR 0.033 0.024 0.025 0.024
RSt S hplreo2— 0.032 0.026 0.024 0.023
INHEBFAE 0.048 0.037 0.038 0.04
IWiRERHAE 0.055 0.045 0.045 0.049
X ER 0.026 0.02 0.018 0.02
ZELDVAIE TUE 0.037 0.024 0.022 0.02
K5I ELE — — 0.026 0.025
VEHLYCELH 0.031 0.028 0.026 0.03
TA—Fay T4 A—TV 0.025 0.02 0.02 0.019
BERKETR5 0.031 0.026 0.025 0.025
KRB EHIZ 0.036 — 0.03 0.032
i) 3t X JB 55 SR YR HE K Q0 R B 0.039 0.031 — 0.031
EREFRELF— — 0.023 0.024 0.025
REERER AT — 0.024 0.024 0.025
T FREER — 0.027 — 0.03
|B v iR /R Bifdth 0.036 — 0.028 0.032
*iﬂdﬁ%%ﬂ? 0.031 — 0.028 0.03
BRIFES — 0.032 0.03 0.03
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